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ACCOUNTANCY AND BUSINESS STATISTICS
First Paper : Auditing and Management Accounting
Maximum Marks : 100

HEEl % IR forEd ¥ 9E We-TE W e T Havd ford |
TEFFE N I SO, FO MO I ea FH £

L.

UNIT-I/ZeE-1
What is meant by Audit 7 Mention the objects and adwamages of an
Audit.
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Or
What is an Audit Programme ? How should it be constructed ? Give
essential of 2 good Audit Programme.
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UNIT-IVE&E-1i
“Vouching is the backbone of auditing.” In the light of this statemrent
discuss the importance of Vouching, giving some case law.
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How will you verify the following :
(1) Goodwill (ii) Investments (iii) Trade debtors (iv) Machinery
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UNIT-II/Z=tE - 111

Discuss the statutory powers and duties of a Comapny/Auditor.
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Or
Distinguish between a-“Clean Report’ and a *Qualified Report’ of an

auditor. Draft an imaginary Clean Report in the manner prescribed under
the Act.
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UNIT-IV/3@TS-IV 720

. Define Management Accounting and discuss its functions and limitations.
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A firm has sales of T /5 lakh, variable cost T 42 lakh, fixed cost of 7 6 lakh,

debt of ¥ 45 lakh at 9% and equity capital ¥ 55 lakh. Calculate Operating,
Financial and Combined Leverages.

T HH i A 2 75,00,000, IR @@ 2 42,00,000, T @R
< 6,00,000, 9% =191 T 9T 0T T 45,00,000 T T Toit € 55,00,000 % 1
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UNIT-V/A&E-V

. Explain various techmques used for Financial Analysis and their

interpretation.
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From the following information, prepare a Baiancc Sheet of Kalpana
Led :
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(i) Current ratio 25

(i) Liquid ratio 1.5

(1ii) Proprietory ratio 0.75
(Fixed Assets/Proprietory Funds)

(iv) Working capital - T60,000

(v) Reserves and Surplus ' T 40,000

(vi) Bank overdraft T 10,000

(vii) There is no long-term loan or fictitious assets.




